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7.2.4 Mixtures
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O 100 minutes

LY 146 marks
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John ground some coffee beans into little pieces. He put them into a coffee filter and
poured 800 cm?® of boiling water over them to make a jug of coffee.

(@)

(b)

(©)

coffee filter

jug of coffee

Complete the sentences below. For each sentence, choose one of the following
words.

insoluble  soluble solution solvent

()  The liquid in the jug is brown because parts of the coffee beans

A€ weveveeee vt e e in water.
1 mark
(i)  Some bits of coffee beans are left on the filter because they
A covveeeie e in water.
1 mark
(i)  The brown liquid which drips through the filteris a ...........ccccoeoveenneee
of coffee.
1 mark
How could John get dry, solid coffee from the brown liquid in the jug of coffee?
...................................................................................................................... -
John tried making coffee in the same way using cold water. He used 800 cm® of cold
water and the same amount of ground up coffee beans.
(i)  The liquid in the jug was a lighter colour. Why was this?
............................................................................................................. -
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(i)  How much solid coffee could John get back from this liquid?

Tick the correct box.

more than before

the same as before

less than before

none
1 mark

Maximum 6 marks

Becky puts one tea bag in a beaker and adds 50 cm3 of warm water. She stirs the liquid
slowly. Every 15 seconds she takes out 2 cm?3 of the liquid and measures how dark it is.

dark &
birowin
c
darkness
of the brown
ligquid
B
coloudess l I | | | I I A
1] 19 30 4% EBO F5 90 105 120 135

time in seconds, after tea hag
wias added to water

(&8 Which graph, A, B or C, shows how the colour of the liquid changes?

1 mark

(b) () Becky takes out 2 cm3 samples of the liquid each time. Why must she always put
the sample back after she has tested it?

1 mark

(i)  What piece of apparatus can she use to measure the volume of the 2 cm3 samples
of liquid?

1 mark
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(i)  Suggest two ways Becky could make the tea dissolve more quickly.

T
RSP PR TSR
2 marks
Maximum 5 marks
Q3. A scientist investigates the paints used in oil paintings. She takes tiny pieces of yellow, blue

and green paint and tries to dissolve them in different solvents.
Her results are shown in the table.

solvent yellow paint blue paint green paint
water vellow pleces blue pieces green pieces
are left are left are left
ethanol yellow pieces clear hlue liguid clear blue liquid but
are left vellow pieces are |eft
propanone clear yellow liquid clear blue liguid clear green liguid

(& Which solvent does not dissolve the blue paint?

1 mark

She then uses chromatography to investigate the paints.

-

|- chromatography paper
- /fpenc:il line

sokvent
o] 7

-~ -

green paint, G
blue paint, B
wellow paint, v

(b) Only one of the solvents in the table will make all three paints move up the
chromatography paper. Which solvent is this?

1 mark

(c) The scientist then investigates the paint used in three different oil paintings. She
takes tiny pieces of yellow, blue and green paint from each picture and uses
chromatography to compare them.
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Her results are shown below:

picture 1 picture 2 picture 3
painted in 1993  painted in 1625 date unknown
| | 0 g

o0 i o0
]
0 " r § ¢ 0
v B G Y B G v B G

Which of the paints in the 1993 picture contains only one substance?
Tick the correct box.

yellow, Y blue, B green, G
1 mark
The scientist decides that picture 3 is probably recent and not from around 1625.
(d) Look at the chromatography results for the three pictures. Explain how the scientist was
able to decide this.
...................................................................................................................... R

Maximum 5 marks

Q4. (a) Complete the following sentence.

When a solid dissolves in a solvent, @ .........cccoveeeeveeviieeneens is formed.
1 mark
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(b)

()

: 10.5g of salt

A beaker contains water. It is on a balance.

The balance reads 200.0 g.
Patti adds 10.5 g of salt to the water. The salt dissolves.

When all the salt has dissolved, what is the reading on the balance?

Patti wants to get all the solid salt back from the water.

Describe how she could do this.

1 mark

2 marks
Maximum 4 marks
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Q5.

The graph shows how the solubility of two salts in water changes with temperature.
The solubility is the number of grams of the salt which will dissolve in 100 g of water.

80
70
B0

50
solubility in
g per 100g
water 40

30
potassium

chloride
20

copper
sulphate
10

(a) Describe how the solubility of copper sulphate changes with temperature.

(b)  Use the information in the graph to answer the questions below.

()  What is the solubility of potassium chloride at 40°C?

(i) At what temperature are the solubilities of the two salts the same?

copper

=_E

sulphate

potassium

Fhchloride

temperature in °C

g per 100 g of water

20

100

1 mark

1 mark

1 mark

(i)  What is the largest mass of copper sulphate which can be dissolved in 50 g of water

at 60°C?

1 mark
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(c) Why is the solubility of salts in water normally given only for temperatures between 0°C
and 100°C?

2 marks
Maximum 6 marks

Q6. Emma dissolved some salt in some water to make salt water.
stirring
rod
b -~ !
| —
| [+ —=
N —
salt water salt water

(&) Which words in the list below describe the salt, the water and the salt water?

Write the correct words in the table.

3 marks
solution solute sediment filtrate solvent
substance word from the list
salt
wiater
salt water
(b) What two things could Emma do to make the salt dissolve more quickly?
PRSP PRTPR P
TP UUT TR PPPTPPPI
2 marks
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(c) Emma dissolved 5 g of salt in 50 cm?® of water. Now she wants to make some salt
water which is only half as concentrated.

What should she do? Tick the correct box.

Dissalve 10 g of saltin Dissaolve o g of salt in
100 cr® of water. 100 cr® of water.
Dissalve 10 g of saltin Dissalve 10 g of salt in
50 o of water. 25 cm?® of water,

1 mark
Maximum 6 marks

John dropped a glass bottle of blue copper sulphate crystals. The bottle broke and glass
was mixed with the crystals.

(&) Suggest how John or a teacher could clear up the mixture safely, without
cutting themselves.

1 mark
(b) Mari said, “You can separate the glass from the copper sulphate crystals using a sieve”.
glass and crystals
i /
R s <o W
L
glass and crystals
R iy
glass ar;d'crystals
Most of the crystals went through the sieve. Some of the glass went through as well.
Why did some of the crystals and pieces of glass stay in the sieve?
1 mark
(c) John tried another way to separate the glass from the blue copper sulphate crystals.
He put the mixture into water and stirred it.
The water turned blue. Why did the water turn blue?
1 mark
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(d) Very carefully, he poured some of the blue liquid into a dish and gently heated it. The
volume of the liquid decreased.
Why did the volume decrease?

1 mark

(e) John put the dish by a window. The next day there was no liquid left.
What would be left in the dish?

1 mark
Maximum 5 marks

Qs8. The diagram shows a section through a formation of rocks. The rocks formed as sediments
on the bed of an inland sea. The sea was surrounded by a hot, rocky desert. It rarely rained, but
when it did the rain was very heavy.

- — — — — — —1 layer D
— — — — — — / red sandstone — mainly grains of
_—— — ———— silicon dioxide (Si0;)

N | dq
) > > ) ) ) RV flal?rg‘n!arcwstals of potassium chlaride (KCI,

22223223 _ ) .
with large crystals of sodium chlaride
\_?thQﬁ?xf/ff (NaCl)
TN AON TN
| '— ol f N - | a
\;‘\‘\f \“"“;’h“f _;f,\ / ]"::f Ial?g‘n!arcwstals of sodium chloride (MaCl)
N NI
- — AN | T P

"./H o TN N layer 2
AR NN /e 1/ mainly fine grains of calcium sulphate
(CasS04)

[T T T T T 71 layer | |
| | | | | | | mainly limestone — fine grains of
| | | | | | | calcium carbonate (Calls)

(&) Suggest how the limestone in layer 1 was formed

1 mark
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Potassium chloride and sodium chloride are both more soluble than calcium sulphate.

(b) (i) Suggest how the crystals of potassium chloride and sodium chloride were formed in
layers 3 and 4.

1 mark
(i)  Why are the crystals in these rock layers large?
1 mark
(i)  Layer 3 contains very little potassium chloride but layer 4 contains quite a lot of both
salts. Why is this?
1 mark

(c) All of the rocks contain insoluble particles of clay. Suggest how these particles got into the
rocks.

1 mark

(d) Suggest how layer 5 was formed.

1 mark
Maximum 6 marks
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Q9. Simon added some salt to 100 cm? of cold water in a beaker.
He stirred the water to dissolve the salt. He added more salt until no more would dissolve.
He repeated his experiment with sugar, baking powder and instant coffee powder.

Each time, he used a different beaker containing 100 cm® of cold water.

He drew a bar chart of his results.

100 +

HO

B0 -
70 =
mass dissolved B0

in g
a0

40 -

a0

207

10

salt sugar baking coffee
powyder

(@) Describe two ways in which Simon made this experiment a fair test.

L e et e et ettt aEee e e aeeanteeantaeeaneeeennes
2 e e et e e e —e e e —eeabeeeabaeeabeeeataeeateeaataeeaareean
2 marks
(b)  Which one of the four solids was most soluble in water?
1 mark
() How could Simon make more salt dissolve in 100 cm® of water?
1 mark

Maximum 4 marks
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(@)  Sunil picked yellow, red and purple primula flowers from his garden.

He dipped the different flower petals into water and into two different solutions.

The pH of one solution was 1 and the pH of the other was 10.

The table shows the results.

colour of
flower petals

in solutions of
pH1

in water
pH7

in solution of
pH 10

stayed yellow

stayed yellow

yellow stayed yellow
red stayed red stayed red turned green
purple turned pink stayed purple turned blue

Which colour of flower petal would be most useful to make an indicator for both acids and
alkalis? Explain your answer.

2 marks

Sunil crushed petals from each flower separately in some liquid and poured off the
coloured solutions. Then he put drops of each coloured solution into the middle of different

pieces of filter paper.

—

Y g
r\_%-"‘.,

[
= -'.'I‘-}_ BT Val
PAVOEL N W
“ﬁﬁ‘ﬁ N A

The solutions spread out on the filter paper. The diagrams show his results.

solution from

solution from
vellow petals pumle petals
yellow ring

yellow ring wellow ring
; @ purple SD@DUFDE spot

(b) What is the name of this method of investigating coloured substances?

solution from
red petals

1 mark
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(c) Sunil made notes on his experiment. Some words are missing.
Complete the sentences.

When | crushed a flower in a liquid it produced a coloured solution.

This is because a coloured substance had ...........cccoccoeeeee i in the
liquid. This shows that the liquid IS @ ........ccoociveeiiiiiiie e, for these
coloured substances.

My experiment shows that one of the flowers probably contained two

coloured substances. Thiswas the .......ccccveeviiiiii e, flower.

3 marks
Maximum 6 marks

Q11. The diagrams represent the arrangement of atoms or molecules in four different
substances, A, B, C and D.

not to scale

Each of the circles, O, © and @represents an atom of a different element.

(@ () Which substance is a compound?

1 mark

(i)  Which substance is a mixture?

1 mark
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(i)  Which two substances are elements?

and ............
1 mark
(iv) Which two substances could be good thermal conductors?
and ............
1 mark
(v)  Which substance could be carbon dioxide?
1 mark
(b) The following experiment was set up. Test-tubes containing substances B and C were
placed together as shown. The substances did not react.
They were left for five minutes.
test-tubes put together
- — )
mixture of
L . substance B and substance C
substance B substance C
()  How many molecules are there in the mixture compared to the total number in
substances B and C?
............................................................................................ -
(i) Complete the diagram which is a model of this experiment.
o & & ol
+ —=
substance B substance C mixture
1 mark

Maximum 7 marks
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Q12.

Gravy powder contains:

a brown substance to make the gravy brown;

cornflour to make the gravy thick.

Dan mixed some gravy powder with cold water in a beaker.
An hour later, the contents of the beaker looked like this:

I

-

birowvn Ligguich
v 0

(@)

(b)

1

— white solid (cornflour)

Use the words in the list below to fill the gaps in the following sentences.

solvent solution soluble insoluble

The brown substance dissolves in water to formabrown ...............ccoooit .. .
The cornflour settles at the bottom of the beaker because
TS vt in water.

Wateristhe ............ccoevvvinnn. in this experiment.
3 marks

Dan wanted to separate the brown liquid from the white solid.
What could he do to separate them?

1 mark

Dan put a little of the brown liquid in a dish. The next day there was only a brown solid
left in the dish. What had happened to the water?

1 mark
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(d) Dan wanted to get pure water from the rest of the brown liquid.
He set up the apparatus shown below.

thermometer

water out

A

water
YapoUr

/

water in 6 drops of

pure water

Water vapour from the brown liquid changed into drops of pure water which

were collected in the beaker. What process caused the drops of water to form from
the vapour? Tick the correct box.

boiling condensing

dissolving melting

1 mark
Maximum 6 marks
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Q13. Chris has two rubber party balloons. One is filled with air and the other is filled with helium.
Both balloons contain the same volume of gas.

@ (@)

1 mark
(i)  Explain why the air balloon drops to the ground.
............................................................................................................. ..
(b)  The chemical symbol for helium is He.
Explain why air does not have a chemical symbol or formula.
..................................................................................................................... -
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(c) The diagram below shows seven arrangements of particles.

%o%)
2 o |

A B C

The two party balloons are coated with a thin layer of aluminium.
Give the letter of the diagram which best represents the particles in:

(i) the heliumgas; ....cccccccervvnnnnn.

1 mark
(i) theair; ..cccccooveviieerinens
1 mark
(i)  the thin layer of aluminium. .........................
1 mark
(d) Over several days, the balloons shrink because the particles of gas diffuse through the
balloon and escape. The helium balloon shrinks more quickly than the air-filled balloon.
Answer the following questions in terms of particles.
(i)  Why does helium escape more quickly than air from a balloon?
1 mark
(i)  Arubber balloon coated with aluminium takes longer to shrink than a rubber balloon
without an aluminium coating.
Suggest a reason why gas particles diffuse more slowly through aluminium than
through rubber.
1 mark

Maximum 8 marks
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Q14.

Linda had a piece of red sandstone.

She hammered it into pieces and then ground them into a powder using a pestle and mortar.

She put the powder into a measuring cylinder with water and shook the mixture. The
contents settled.

cloudy water

brown clay

red sand

(&) Linda said her results showed that sandstone is a mixture of two substances.

How could she tell, from the results, that sandstone is a mixture of substances?

1 mark
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(b) Linda then poured the cloudy water from the measuring cylinder through filter
paper in a filter funnel.

solid /

——colourless,
clear liguid

She said there might be salts dissolved in the colourless, clear liquid that came through
the filter.

(i)  What could Linda do to find out if there were salts dissolved in the colourless, clear
liquid?

1 mark

(i)  What would she see if there had been salts dissolved in the colourless, clear liquid?

1 mark

(c) Sandstone is a sedimentary rock. Four stages in the formation of sedimentary rock are
listed below.
They are not in the correct order.
compacted deposited weathered transported

Put these stages in the correct order. One has been done for you.

1 mark
Maximum 4 marks
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Q15.

The drawing shows a gold mask from a tomb in Egypt. The gold is still shiny after

thousands of years.

(@)

(b)

(©

What is pure gold? Tick the correct box.

a compound a mixture
an element a solution
1 mark
The list shows some of the properties of gold.
It conducts electricity. It melts at 1064°C. Itis yellow.
It is easily scratched. It stays shiny. It conducts heat.
(i)  Which one of these properties shows that gold does not react with oxygen in the
air?
............................................................................................................. ..
(i)  Which two of the properties above are properties of all metals?
TP
e e e e e e e e e e e bbb e e e e e e e e s abareeeaaas
2 marks
Old iron objects from tombs in Britain are often covered with rust.
Iron reacts with oxygen when it rusts.
What else is needed for iron to go rusty? Choose one substance from the list below.
lead nitrogen carbon dioxide water
................................................................... ..
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(d) A box contains a collection of metal objects from a tomb.

What piece of equipment would you use to separate the iron objects from the other metal
objects?

1 mark
Maximum 6 marks

Q16. In the 19th Century, a scientist called John Dalton used symbols to represent atoms. The
symbols he used for atoms of three different elements are shown below.

® ® O

The diagrams below show different combinations of these atoms.

* @@@@CﬁD
o0

o
Cag

o §
S | o

D E

(@ (i) Give the letter of the diagram which shows a mixture of two elements.

1 mark
(i)  Give the letter of the diagram which shows a mixture of two compounds.
1 mark
(i)  Give the letter of the diagram which shows a mixture of an element and a
compound.
1 mark
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Q17.

(b) Give one difference between a compound and a mixture.

(ii)

(@)

1 mark
Suggest a name and formula for the substance represented in diagram B.
NAIME ..vveeiiee et
formula ...............

1 mark
Suggest a name and formula for the substance represented in diagram D.
NAIME ..eveeiiee e e e e saeas
formula ...............

1 mark

maximum 6 marks

Jenny put a bottle of fizzy drink on a balance.

She removed the bottle-top, and the drink began to fizz.
She left the open bottle of drink and the bottle-top on the balance for five days in a warm
room.

at the start five days later
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Five days later the drink was no longer fizzy. It's mass had decreased and the level of the
liquid had gone down.

()  Look at the drawings of the balance.
Work out the decrease in mass after five days.

............... g
1 mark
(i)  The fizzy drink contained sugar, colouring, a gas and water. The mass decreased
because two of these substances were lost into the air.
Which two substances were lost into the air?
L s
1 mark
2 s
1 mark
(b) The sugar, colouring and the gas were all dissolved in the water.
Which word describes the water?
Tick the correct box.
alkali indicator
solute solvent
1 mark
maximum 4 marks
Q18. (@) Reshma had a mixture of iron filings and sand. What could she use to separate the

iron filings from the mixture?

1 mark
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(b) Reshma put 10 cm® of water and 2 g of a different solid into each of four test-tubes.

She shook each test-tube.
The drawings show the test-tubes after 10 minutes.

N iy N @
A B C O
salt sand sugar limestane

Why can the salt and sugar no longer be seen in test-tubes A and C?

(c) Reshma added hydrochloric acid to some pieces of limestone as shown below.

_‘\"'

b
hydrochloric Il
acid F )
o /I|mewater
. "y
limestone
L

()  Look at the diagram above. How can you tell that a gas is given off in this
experiment?

1 mark

1 mark
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(ii)

Q19. (@

The paint had separated into two layers, as shown below.

(i)

(ii)

Reshma passed the gas through limewater. This showed that the gas was carbon

dioxide.

What happened to the limewater?
Tick the correct box.

It stayed clear.

It turned blue.

It turned cloudy.

It turned red.

1 mark
maximum 4 marks

Samantha opened a tin of white paint. The paint consisted of a liquid and particles of
titanium dioxide that are insoluble in the liquid.

n -

—— liquid

What type of substance is the paint?
Tick the correct box.

a compound an element

What type of substance is titanium dioxide?
Tick the correct box.

a compound an element

—— particles of insoluble
titanium dioxide

a mixture

1 mark

a mixture

1 mark
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(i)  Why did the particles of insoluble titanium dioxide sink to the bottom?

1 mark
(b) Samantha stirred the paint and used it to paint a window frame.
She got some of the paint on the glass.
Samantha could not get the paint off the glass with water.
When she used a different liquid called white spirit the paint came off.
Why could she remove the paint with white spirit but not with water?
..................................................................................................................... -

maximum 4 marks

Q20. (@) Ruth added some blue copper sulphate crystals to a beaker of water.
~ e ™ ~
———water —+— copper sulphate
solution
0 \ o oS o
before adding after adding
copper sulphate copper sulphate
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(b)

©)

nurmber of

grams of
solid
dissolved

in 100 cm?

of wigter

(i)

How could Ruth see that some of the copper sulphate crystals had
dissolved in the water?

1 mark

(ii)

How could Ruth make the copper sulphate crystals dissolve more quickly?

1 mark

Ruth poured some of the copper sulphate solution into a dish.
She left it in a warm room for five days.

All the water evaporated from the solution in the dish.
What was left in the dish?

1 mark

Ruth did an experiment to see how much of three solids, P, Q and R, will
dissolve in water at different temperatures.
She plotted her results on graph paper as shown below.

1o

100 =
80 -
20 -

70

30 1

204

10 1

B
™

BE

I:I I T I T I T I T I
2530 35 40 45
temperature (°C)

g0 55  BO

Use the graph above to answer the questions below.

(i)

At 30°C how many grams of solid R dissolved in the water?

1 mark
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(i) At 60°C which solid dissolved the most in water? Give the letter.

1 mark
(i)  Which two solids were equally soluble at 25°C? Give the letters.
............ and ............
1 mark
maximum 6 marks
Q21. Meera poured 7 cm?® of water into a measuring cylinder.

She poured 7 cm?® of melted wax into another measuring cylinder.
She put both measuring cylinders into a freezer for 24 hours.

10 [
CITP
wiater 8 water
hefore freezing B after freezing
4
2
i - 1|:| r
CITP
=
wax wax
hefore freezing after freezing
4
2

(@) Look at the measuring cylinders.
What happened to the volume of the water and the wax after freezing?

||||||||||||||
m 9 =
30:1

|

o

]

IIII|IIII|IIII|IIII|IIII|IIII|IIII|
I

—
[

b3 = m | mYg
3

the vOlUME OFf WALET ....vveiieeieeeee e

the VOIUME Of WaAX ....cooiiiieee e
1 mark
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(b) The measuring cylinders were taken out of the freezer and left in a room at 20°C.
* Frozen water melts at 0°C.
*  Wax melts at 53°C.

What would the physical state of each substance be at 20°C?

Choose from gas or liquid or solid.

WALEE ettt
WX ettt ettt
2 marks
(c) Meera added blue copper sulphate crystals to some water in a beaker.
The copper sulphate dissolved in the water.
hlue copper
sulphate crystals
™ s ™ s
b A M
—— water
./ - 7
before adding after adding
copper sulphate copper sulphate
(i) Give one way Meera could see that the copper sulphate had dissolved in
the water.
............................................................................................................... -
(i) Give one way that she could get the copper sulphate to dissolve more
quickly.
............................................................................................................... -
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(d) Meera poured some of the copper sulphate solution into a dish.
She left it in a warm room for a week.

]\ %L copper sulphate solution

A week later there was a blue solid but no liquid in the dish.

()  What happened to the water in the copper sulphate solution?

1 mark

(i)  What was the blue solid left in the dish?

1 mark
maximum 7 marks

Q22. The graph below shows how the solubility of three salts, sodium chloride, potassium
chloride and calcium sulphate, changes as the temperature changes.

B0

-4 potassium chloride

50 —

solubility 01— P e N IR BT ST T Lo S sodiurn chloride

(g per 100 cr? -
of weater) a0 ===

p e R i S S O —

=={ calcium sulphate

10

0

o 10 20 30 40 &0 wO 70 BO SO 100

termperature (°C)

(@ (i) Use the graph above to compare the solubility of sodium chloride and
potassium chloride in the temperature range 10°C to 90°C.

2 marks
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(i)  Ken had a beaker containing 54 g of potassium chloride dissolved in
100 cm?® of water at 90°C.

He cooled the solution to 40°C.
What would he see in the beaker as the solution cooled to 40°C?

Use the graph to help you.

1 mark
Explain your answer.
................................................................................................................ Lk
(b) The water in a lake had the three salts dissolved in it. The water evaporated from
the lake and the salts were deposited in layers in the order shown below.
' < potassium chloride
sodium chloride
calcium sulphate
Look at the graph above.
()  What evidence is there that these three salts were deposited at a
temperature above 25°C?
................................................................................................................ -
(i)  In what order would the salts be deposited at 10°C?
0] o SRR
Middle......ccvveeiiiie e,
DOtOM..eeeei i,
1 mark

maximum 6 marks
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Q23.

Gary wanted to find out if some food colourings contained a banned food dye.

He put a drop of each food colouring and the banned food dye onto some special

paper.

He hung the paper in a beaker of water.

beaker

pencil line \

!

t

R

red  Hue green brown wellow baned
] fo
the

-

water

paper

=

After 10 minutes, the banned food dye and some of the dyes from the food colourings

had moved up the paper.
Gary’s results are shown below.

!

Y

!

|

—
red

blue green brown yellow banned

food
dye

(a) Gary wrote the labels on the paper in pencil.

Why should he not write them in ink?

1 mark
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(b)

()

(d)

Look at Gary's results.

The different dyes in some of the food colourings had moved up the paper.

(i)  Which food colouring contained the banned food dye?

(i)  Which food colouring contained the most dyes?

Which method did Gary use to separate the dyes?

Tick the correct box.

chromatography

evaporation

distillation

filtration

1 mark

1 mark

1 mark

1 mark
maximum 5 marks
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Q24. Anna has a can of deodorant that she uses once each day.
Before she uses the deodorant she measures the mass of the can.

(@) Her results are shown in the graph below.

202

200

1898

196

194

182

mass
of ean

tg) 180
188

186

184

182

180

()  What was the mass of the can of deodorant on day 1?

.............. g
1 mark
(i) How did the mass change as Anna used the deodorant?
............................................................................................................... -
(i)  Anna did not use the deodorant on day 6.
How can you tell this from the graph?
............................................................................................................... -
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(b)

(©)

(d)

The deodorant can has a warning sign on it.

A deodorant contains a solution of perfume and alcohol.

What happens to the perfume when it is mixed with the alcohol?

Tick the correct box.

It boils. It dissolves.

It freezes. It melts.

Anna sprayed the liquid deodorant under her arms.
After a few minutes, her skin had dried.

What happened to the liquid?
Tick the correct box.

It evaporated. It dissolved.

It boiled. It condensed.

1 mark

1 mark

1 mark
maximum 6 marks
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Q25. (@ Amy’s family are at the beach during the summer.
Amy and her sister have a bucket containing seawater and sand.

Read the following statements.
Which are true and which are false?

Tick one box for each statement.

true false

Water is a solvent for salt.

Sand sinks in water because water is more dense than sand.

When a solid dissolves in water, the solid is called a solute.

2 marks

(b) Seawater contains dissolved salt.
Describe what Amy can do to separate and collect pure water from seawater.

2 marks
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(c) Draw a line from each of the substances below to the group that it belongs to.

Draw only three lines.

Draw a line from each group to the correct description.
Draw only three lines.

substance group description
It contains two or mare
seawater compound types of atoms or

molecules which can be

physically separated.

_ It contains anly one

salt mixture type of atom.
Twio or mare types of
DeYQEN element atoms are chemically
Joined together.
2 marks
maximum 6 marks
Q26. Russell put ground-up coffee beans in a coffee maker and added hot water.
&
plunger
L o
wire mes
ground-up
coffee beans

hot water coffee drink ground-up

He pushed the plunger down.

coffee beans

This separated the coffee drink from the ground-up coffee beans.

(@ How could Russell see that some coffee had dissolved in the water?

1 mark
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(b) The end of the plunger is a circle of wire mesh.
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(i)  Which mesh would be best to separate the coffee drink from all the ground-up coffee
beans? Write the letter.

1 mark
(i)  This method of making coffee uses a type of filter.
The apparatus used for filtration in a school laboratory is drawn below.
FI
0]
R

)
Which part of the apparatus above works in the same way as the wire mesh? Write
the letter.
....................... -

(c) Russell wanted to separate the water from the coffee drink.
He set up the apparatus shown below.

e I

RS revecass)

ice cubes ——————qnlasstube
flask
coffee
drink

T test tube
heat h
| water
(i)  Why did Russell put ice cubes around the glass tube?

............................................................................................................. -
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(ii)

Choose words from the box below to fill the gaps in the following sentences.

an acid agas aliquid asolid

condensation crystallisation evaporation filtration

Russell heats the water. Water in the drink changes from

This change of state is called ...........cccocoeiiiiiiiiniiiiee .

Water vapour changes into liquid. This change of state is called

4 marks

maximum 8 marks
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